JL_

Addizione (orizzontale)

Nome:

Risolvi ogni problema.

1) 753+45=

2) 606 +56 =

3 57+6=

4 1+1=

5) 8+1=

6) 24+20=

7 9+1=

8 18+2=

9 4+1=

10) 34+ 10 =

11) 4+1 =

12) 11+2=

13) 79+19=

14) 74+ 2=

15) 4+4=

10.

11

12.

13.

14.

15.

Risposte
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ﬂh Addizione (orizzontale) Nome:

Soluzioni
Risolvi ogni problema. Risposte
1) 753 +45= 798 708
1.
2 606+56= 662 2 662
3. 63
3 57+6= 63
a 2
4 1+1= 2 9
5.
5 8+1= 9 6. 44
7 10
6) 24+20= 44
8. 20
) 9+1= 10 5
9.
8 18+2= 20 10, 44
11. 5
9 4+1= 5
12 13
10) 34+10= 44 y 98
11) 4+1= 5 14. 76
15. 8
12) 11+2= 13
13) 79+19= 98
14) 74+2= 76
15 4+4= 8

i 1-10
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C:# Addizione (orizzontale)

Nome:

Risolvi ogni problema.

Risposte

{

2 5 44
44 20 10

798

662
63 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

753 +45=

606 + 56 =

57 +6=

1+1=

8+1=

24+ 20 =

9+1=

18+2=

4+1=

34+10=

10.

: Semplificato
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